Scomponi i seguenti numeri


= ....................................................................................................................


45.718 = ....................................................................................................................


1.489.740 = ....................................................................................................................


27.532.850 = ..................................................................................................................


245.843.750= ................................................................................................................


50.910.240 = .................................................................................................................


= .............................................................................................................


Componi i seguenti numeri


9 hk, 1 dak, 2 uk, 4 h, 1 da, 5 u =....................................4 uM, 8 dak, 2 uk, 5 h,1 da, 8 u =...............................


1 uM, 8hk, 7 dak, 3 uk, 6 h, 3 da, 6 u =...........................7 uM, 4 hk, 5 uk, 6 h, 4 da, 5 u =..................................


2 daM, 5 uM, 3 dak, 5 h, 8 da, 2u =.................................1 daM, 2 uM, 8 hk, 1 dak, 4 h, 7da, 3u =.......................


Completa le successioni�
�
�
������������������������������������La regola è  + 9





113 


La regola �è  + 6   


 


494  �
������������������La regola è  - 30





  386 


La regola è  -11





  112 


�
�
Scomponi i seguenti numeri


= ....................................................................................................................


45.718 = ....................................................................................................................


1.489.740 = ....................................................................................................................


27.532.850 = ..................................................................................................................


245.843.750= ................................................................................................................


50.910.240 = .................................................................................................................


= .............................................................................................................


Componi i seguenti numeri


9 hk, 1 dak, 2 uk, 4 h, 1 da, 5 u =....................................4 uM, 8 dak, 2 uk, 5 h,1 da, 8 u =...............................


1 uM, 8hk, 7 dak, 3 uk, 6 h, 3 da, 6 u =...........................7 uM, 4 hk, 5 uk, 6 h, 4 da, 5 u =..................................


2 daM, 5 uM, 3 dak, 5 h, 8 da, 2u =.................................1 daM, 2 uM, 8 hk, 1 dak, 4 h, 7da, 3u =.......................


Completa le successioni�
�
�
������������������������������������La regola è  + 9





113 


La regola �è  + 6   


 


494  �
������������������La regola è  - 30





  386 


La regola è  -11





  112 


�
�
Scomponi i seguenti numeri


= ....................................................................................................................


45.718 = ....................................................................................................................


1.489.740 = ....................................................................................................................


27.532.850 = ..................................................................................................................


245.843.750= ................................................................................................................


50.910.240 = .................................................................................................................


= .............................................................................................................


Componi i seguenti numeri


9 hk, 1 dak, 2 uk, 4 h, 1 da, 5 u =....................................4 uM, 8 dak, 2 uk, 5 h,1 da, 8 u =...............................


1 uM, 8hk, 7 dak, 3 uk, 6 h, 3 da, 6 u =...........................7 uM, 4 hk, 5 uk, 6 h, 4 da, 5 u =..................................


2 daM, 5 uM, 3 dak, 5 h, 8 da, 2u =.................................1 daM, 2 uM, 8 hk, 1 dak, 4 h, 7da, 3u =.......................


Completa le successioni�
�
�
������������������������������������La regola è  + 9





113 


La regola �è  + 6   


 


494  �
������������������La regola è  - 30





  386 


La regola è  -11





  112 


�
�



